L2, .
iT é“\-;/? % Vereinfachung von Exponentenausdriicken

Name: Datum: Ergebnis:

7X3 (X4 )(—3) SX(_4) (X4 )2
Tx(=3) (x2 )2

4572 (x5 )4 7:(6) (x4 6,3
3x(2)(x3)(2)

6x* (2’ 30 (:8) D)
3x(72) (x*)2

25 (x(—Z) )5 2 558 (x(—2) )4
("D (3

4x5 (x2)5 243D
5x3 (x(_3) )(_2)
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iT ,;m\%? % Vereinfachung von Exponentenausdriicken

Name: Datum: Ergebnis:
7X3 (X4 )(—3) SX(_4) (X4 )2
7 T2
N 53
7 X
DS 70 (o3
3x(2) (x3)(72) 752!
4
— 26
3
6o (x(_z) )3 3x° (x6)(_3 )
DAY 3
2 i
4
X
25 (x(—Z) )5 2 5y (x(—Z) )4
2 & D ()
%20 5
8x!l
4x5 (x2)5 243D
5x3 (x(_3) )(_2) 2
4 9 X
g X
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